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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
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Subtraktion (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
. 5.999
1) 6.258 2 640 3 78 4 68
- 259 - 446 -43 -31 2 194
5.999 194 35 37
3. 35
4. 37
5 3.963 6) 2.373 7 99 8 793 > 3.956
-7 -2 - 6 - 358 s 2371
3.956 2.371 93 435
7. 93
8 435
9 21 100 9.453 1) 3.937 12 397 9, 14
-7 -9 - 92 - 4 o 9.444
14 9.444 3.885 393
n 3.885
12 393
13)  §.710 14)  7.448 15)  3.429 16) 757 s 1.920
- 4.790 -1.436 - 1.840 . 51
1.920 6.012 1.589 706 . _ 6012
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1) 1.242 18) 677 19 5.150 200 614 - 922
- 320 - 498 . 85 -1
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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
37 93 393 3.885 435
35 14 3.956 5.999 2.371 1.
194 9.444
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- — 4.
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9.
10.
11.
7 99 8 793 9 21 12,
- 6 - 358 - 7
10)  9.453 11) 3.937 12) 397
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